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BIHAR BOARD QUESTION PAPER  

हहन्दी माध्यम / ENGLISH MEDIUM   

INTERMEDIATE EXAMINATION - 2013 
इंटरमीडिएट ऩरीऺा - 2013 

(ANNUAL / वार्षिक)  

ENTREPRENEURSHIP  
सभम : 3 घॊटे 15 मभनट]              [ऩरू्णांक : 70 

 

SECTION-A 

1. प्रश्न सॊख्मण 1 से 10 तक प्रत्मेक प्रश्न भें चणय विकल्ऩ ददमे गमे हैं, जजनभें से मसपफ  
एक सही है। आऩ उन विकल्ऩों भें से सही विकल्ऩ को चनुें एिॊ उत्तय-ऩत्र भें चचजननत कयें 

 

1. व्मजततगत खणतण सॊफॊचधत है 

(a) सबी प्रकणय की सम्ऩततमों से  

(b) सबी प्रकणय की आमों से   

(c) व्मजतत, कम्ऩनी एिॊ पभों से 

(d) इनभें से कोई नहीॊ 

 

2. रेखणॊकन की प्रर्णरी है  

(a) इकहयण रेखण प्रर्णरी 

(b) दोहयण रेखण प्रर्णरी  

(c) रणगत प्रर्णरी 

(d) (a) एिॊ (b) दोनों 
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3. तनमोजन सबी प्रफॊधकीम क्रिमणओॊ कण है 

(a) प्रणयम्ब  

(b) अन्त 

(c) प्रणयम्ब तथण अॊत दोनों 

(d) इनभें से कोई नहीॊ 

 

4. टेरीपोन व्मम है। 

(a) स्थणमी 

(b) चर 

(c) अर्दफधचर 

(d) इनभें से कोई नहीॊ 

 

5. आचथफक सहणमतण है  

(a) फट्टण  

(b) रयमणमत 

(c) ऩनु: बगुतणन  

(d) इनभें से कोई नहीॊ 

 

6. सॊिरृ्दचधको प्रबणवित कयने िणरे तत्ि है 

(a) प्रततमोचगतण 

(b) तकनीक भें ऩरयितफन 

(c) सजृनशीरतण 
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(d) इनभें से कोई नहीॊ 

7. दीघफकणरीन ऋर् ऩय होतण है 

(a) जस्थय ब्मणज दय 

(b) शनू्म ब्मणज दय  

(c) ऩरयितफनशीर व्मणज दय 

(d) इनभें से कोई नहीॊ 

 

8. पे्रयर्णएॉ सॊफॊचधत नहीॊ होती हैं 

(a) छूट से 

(b) कय से भजुतत से 

(c) फीज ऩूॉजी कण प्रणिधणन से  

(d) एकभशु्त बगुतणन से 

 

9. व्मिसणम के मरए विऩर्न है 

(a) अतनिणमफ 

(b) आिश्मक 

(c) अनणिश्मक 

(d) विरणमसतण 

 

10. विऩर्न व्मम बणय है 

(a) उर्दमोग ऩय 

(b) व्मिसणतममों ऩय 

(c) उऩबोततणओॊ ऩय  
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(d) इनभें से सबी ऩय  

II. प्रश्न सॊख्मण 11 से 15 तक के प्रत्मेक प्रश्न भें दो कथन (कथन I एिॊ कथन II) 
ददमे गमे हैं। इन कथनों के आधणय ऩय ददमे गए विकल्ऩों (a), (b), (c) औय (d) भें से 
सही विकल्ऩ कण चनुणि कयें 

 

(a) दोनों कथन सही हैं तथण कथन II, कथन I की सही व्मणख्मण है।  

(b) दोनों कथन सही हैं, ऩयॊतु कथन II, कथन I की सही व्मणख्मण नहीॊ है  

(c) कथन I सही है, ऩयन्तु कथन II असत्म है 

(d) कथन I असत्म है, ऩयन्तु कथन II सही है 

 

11. कथन-I : प्रफॊध एक जस्थय विचणय है। 

कथन-II : प्रफॊध दसूयों के र्दिणयण कणभ कयणने की क्रिमण है। 

 

12. कथन-I : उर्दमभी योजगणय अिसयों कण सजृन कयतण है। 

कथन-II : उर्दमभी फेयोजगणयों की सॊख्मण भें िरृ्दचध कयतण  

 

13. कथन-I : तनमोजन प्रफॊध कण एक प्रणथमभक कणमफ है। 

कथन-II : तनमोजन एक बौततक कसयत है। 

 

14. कथन-I : व्मिसणम सभणज कण एक बणग है। 

कथन-II : जोखखभ व्मिसणम कण एक आिश्मक तत्त्ि है।  

 

15. कथन-। : सणभणन्मत् तकनीक के दो प्रकणय हैं। 

कथन-II : तकनीक के दो प्रकणय हैं-श्रभ गहन तकनीक एिॊ ऩूॉजी गहन तकनीक।  
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III. प्रश्न सॊख्मण 16 से 18 तक भें खणरी स्थणनों को ददमे गमे विकल्ऩों भें से उऩमतुत 
उत्तय से बयें तथण उत्तय-ऩत्र भें चचजननत कयें : 

 

16. सणहसी...........की कणभनण से ही जोखखभ उठणतण है।  

(a) रणब  

(b) हणतन 

(c) ख्मणतत 

(d) इनभें से कोई नहीॊ 

 

17. व्मिसणम कण..........बी व्मिसणम के प्रणरूऩ को तनधणफरयत कयतण है। 

(a) आकणय 

(b) स्थणन 

(c) अध्ममन  

(d) इनभें से कोई नहीॊ 

18. स्थणन चनुणि भें श्रभ अिजस्थतत...........कणयक भणनी जणती है।  

(a) फणनम 

(b) आॊतरयक 

(c) वित्तीम  

(d) इनभें से कोई नहीॊ 

 

IV. तनम्नमरखखत प्रश्न सॊख्मण 19 से 22 तक भें दो तणमरकणएॉ दी गई हैं। तणमरकण I भैं 
चणय प्रश्न हैं एिॊ तणमरकण II भें चणय विकल्ऩ (a), (b), (c) तथण (d) ददए गए हैं। आऩको 
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तणमरकण II से इन प्रश्नों के मरए सही भेर के विकल्ऩ (a), (b), (c) तथण (d) के रूऩ भें 
चनुनण 

तणमरकण I       तणमरकण II  

19. तकनीक कण एक प्रकणय   (a) श्रभ गहन प्रौर्दमोचगकी कण रणब 

20. विकेजन्ित उत्ऩणदन तॊत्र   (b) ऩूॉजी गहन तकनीक कण रणब 

21. त्िरयत आचथफक विकणस   (c) तनयॊतय प्रिणह प्रक्रिमण प्रौर्दमोचगकी 

22. उत्ऩणदन तकनीक कण प्रकणय    (d) ऩूॉजी गहन तकनीक 

 

V. प्रश्न सॊख्मण 23 से 25 तक भें एक उर्दधयर् के सणथ तीन प्रश्न ददए गए हैं। आऩ 
इस उर्दधयर् कण अध्ममन कयें एिॊ प्रदत्त विकल्ऩों भें से सही उत्तय चनुें एिॊ उत्तय-ऩत्र । भें 
चचजननत कयें 

उर्दधयर् : क्रकसी बी उऩिभ की यीढ़ िे उत्ऩणद एिॊ सेिणएॉ होती हैं जजन्हें इनके र्दिणयण 
प्रस्तुत क्रकमण जणतण है। सणधणयर्तमण उत्ऩणद रूऩयेखण तैमणय कयते सभम तनम्न फणतों ऩय 
विचणय क्रकमण जणनण चणदहए- 

प्रभणऩीकयर्, विश्िसनीमतण, ऩनु् उत्ऩणदनशीरतण, उत्ऩणद सयरीकयर्, उत्ऩणद भलू्म, यख-
यखणि, सेिण व्मिस्थण इत्मणदद । https://www.bsebstudy.com 

उत्ऩणदन रूऩयेखण की क्रिमण को तनम्न दो बणगों भें फणॉटण जणतण है- 

(i) कणमफिभ रूऩयेखण एिॊ (ii) उत्ऩणदन तनयीऺर्। 

 

23. उत्ऩणदन एिॊ सेिणएॉ योड़ हैं 

(a) उऩिभ के  

(b) उर्दमभी के 

(c) बऩूतत के 

(d) इनभें से कोई नहीॊ 
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24. उत्ऩणद रूऩयेखण को प्रबणवित कयने िणरे कणयक हैं  

(a) प्रभणऩीकयर् 

(b) विश्िसनीमतण  

(c) उत्ऩणद भलू्म  

(d) इनभें से सबी  

 

25. उत्ऩणदन रूऩयेखण को फणॉटण जण सकतण है  

(a) दो बणगों भें  

(b) चणय बणगों भें  

(c) तीन बणगों भें  

(d) इनभें से कोई नहीॊ 

SECTION-B 

I. प्रश्न सॊख्मण 1 से 8 रघ ुउत्तयीम प्रश्न हैं। प्रत्मेक प्रश्न 3 अॊक कण है :  

1. कभफचणयी औय सणहसी कैसे मबन्न होते हैं ? 

2. उर्दममभतण के मरए फणजणय भलू्मणॊकन तमों आिश्मक है ?  

3. प्रबणिशणरी तनमॊत्रर् भें तनमोजन की तमण बमूभकण है ? 

4. अॊशों तथण ऋर्ऩत्रों भें तीन अॊतय फतणइए । 

5. प्रफॊध करण है मण विऻणन ?  

6. क्रकस्भ तनमॊत्रर् कण भहत्त्ि तमण है ? 

7. विऩर्न मभश्रर् तमण है ? 

8. अिसय रणगत तथण सॊमतुत रणगत तमण हैं ? 
 

II. प्रश्न संख्या 9 से 11 दीर्ि उत्तरीय हैं तथा प्रत्येक के लऱए 6 अंक ननधािररत है। 

9. एक सणहसी के मरए ऩमणफियर् कण अध्ममन कयनण तमों आिश्मक है ? 
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अथिण 

उऩिभ स्थणऩनण कण क्रिमणन्िमन आऩ कैसे कयेंगे ?  

10. विऩर्न से तमण आशम है ? वििम प्रफॊधक के क्रकन्हीॊ चणय कणमों कण िर्फन कीजजए। 

अथिण 

विऩर्न अिधणयर्ण तथण इसके उर्ददेश्मों को स्ऩष्ट कीजजए। 

 

11. कुर रणगत एिॊ क्रकन-क्रकन तत्त्िों कण सभणिेश होतण है ? 

अथिण 

रणगत रेखणॊकन विचध से रणब की गर्नण कैसे की जणती है ?  
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BIHAR BOARD QUESTION PAPER  

INTERMEDIATE EXAMINATION - 2013 
इंटरमीडिएट ऩरीऺा - 2013 

(ANNUAL / वार्षिक)  

ENTREPRENEURSHIP 

Time: 3 Hours 15 Minutes]                    [Full Marks: 70 

 

SECTION-A 

I. For Question Nos. 1 to 10 there are four options in every question. Out of these only 

one option is correct. You have to choose the correct answer from these options and 

mark in the Answer Sheet. 

 

1. Personal account is related to 

(a) all types of assets  

(b) all types of income 

(c) person, company and firm 

(d) none of these 

 

2. Accounting system is 

(a) single entry system 

(b) double entry system 

(c) cost system 

(d) both (a) and (b) 

 

3. Of all managerial activities planning is the 

(a) beginning 

(b) end 

(c) beginning and end both 

(d) none of these 
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4. Telephone expenses are 

(a) fixed 

(b) variable  

(c) semi variable 

(d) none of these 

 

5. Subsidy is 

(a) discount 

(b) concession 

(c) repayment 

(d) none of these 

 

6. Element affecting growth rate is  

(a) competition 

(b) change in technology 

(c) creativity  

(d) all of these 

 

7. Long term loan bears 

(a) fixed rate of interest 

(b) zero rate of interest 

(c) flexible rate of interest 

(d) none of these 

 

8. Incentives are not concerned with 

(a) rebate 

(b) exemption from tax 

(c) provision of seed capital  

(d) lump sum payment 
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9. For business marketing is 

(a) compulsory  

(b) necessary 

 (c) unnecessary 

 (d) luxary 

 

10. Marketing expenditure is a burden 

(a) on industry 

(b) on businessmen 

(c) on consumers 

(d) all of these 

 

II. In question nos. 11 to 15, there are two statements (statement I and statement II). 

Given in each question. Choose the correct option for each question out of options (a), 

(b), (c) and (d) on the basis of these statements:  

11. Consider the following statements: 

Statement-I: Management is a static thinking. 

Statement-II: Management is an art of getting things done from others. Of these 

statements: 

(a) Both the statements are true and statement II is the correct explanation of statement 1. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

12. Consider the following statements: 

Statement-1: Entrepreneur creates employment opportunities  

Statement-II: Entrepreneur increases the number of unemployeds. Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 
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(b) Both the statements are true and statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

13. Consider the following statements:  

Statement-I: Planning is a primary function of management. 

Statement II: Planning is a physical exercise. 

Of these statements:  

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement I.  

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true.  

 

14. Consider the following statements: 

Statement-I: Business is a part of society.  

Statement-II: Risk is an essential element of business. 

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement. I. 

(c) Statement I is true, but statement II is false.  

(d) Statement I is false, but statement II is true. 

 

15. Consider the following statements: 

Statement-1: Generally technique is of two types. 
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Statement-II: Labour-intensive technique and capital intensive technique are two types of 

techniques.  

Of these statements: 

(a) Both the statements are true and statement II is the correct explanation of statement I. 

(b) Both the statements are true and statement II is not the correct explanation of 

statement I. 

(c) Statement I is true, but statement II is false. 

(d) Statement I is false, but statement II is true. 

 

III. For questions nos. 16 to 18, fill in the blanks with appropriate answer from the 

options given and mark it in the Answer sheet. 

16. Courage .......... Wishes from the wished only. 

(a) Profit  

(b) Loss 

(c) Fame 

(d) None of these 

 

17. ........... of business also determines the format of the business. 

(a) Size  

(b) Location 

(c) Study 

(d) None of these  

 

18. Labor location is assumed ........... factor in place choice. 

(a) External 

(b) Internal 

(c) Financial 

(d) None of these 
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IV. In question no. 19 to 22, there are two columns. Column I contains four questions 

and column II contains four options (a), (b), (c) and (d). You have to match the correct 

options of the these questions (a), (b), (c) and (d) from column II.  

Column-I Column-II 

19. One type of technique (a) Advantage of labour intensive 

technique 

20. Decentralised production system  (b) Advantage of capital intensive 

technique 

21. Rapid economic development (c) Continuous flow process 

technology 

22. Type of production technique (d) Capital intenstive technique 

V. In question no. 23 to 25, there is a passage followed by three questions. You have to 

go through the passage and choose the correct alternatives from the options given and 

mark it in the Answer sheet:  

The product and services are the backbone of any enterprise which are produced by it. 

Generally following factors must be considered while preparing product plan: 

Standardisation, Reliability. Reproductibility, Product simplification, Product Price, 

Maintainability, Servicing etc. Product design can be divided into two categories: (1) 

Scheduling product and (ii) Product inspection.  

 

23. Product and services are backbone of 

(a) Enterprise  

(b) Entrepreneur 

(c) Landlord 

(d) None of these 

 

24. Factors affecting the product design is  

(a) Standardisation 

(b) Reliability 

(c) Product price 

 

(d) All of these  
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25. Product design can be divided into 

(a) two parts 

(b) four parts  

(c) three parts 

(d) None of these 

 

SECTION-B 

Question Nos. 1 to 8 are Short Answer Type. Each question carries 3 marks.  

1. How do entrepreneurs differ from employees? 

2. Why is market assessment necessary for entrepreneurship?  

3. What is the role of planning in effective control?  

4. Give three differences between shares and debentures. 

5. Is management is Art or Science ? 

6. What is the importance of quality control ?  

7. What is marketing mix ? 

8. What are opportunity cost and joint cost? 

 

 Question Nos. 9 to 11 are Long Answer Type. Each question is of six marks. 

9. Why is it essential to study the environment for an entrepreneur?  

Or, How would you execute the setting up of an enterprise? 

 

10. What is meant by marketing? Explain any four functions performed by marketing 
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Or, Explain the marketing concept and its objectives.  

 

11. Name the various elements included in total cost. 

Or, How is profit calculated by Cost Accounting Method? 


